
PARTS LIST / LISTE DES PIÈCES / LISTA DE PIEZAS
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-630
DESCRIPTION / DESCRIPCIÓN : 3/3 BOOKCASE  HEADBOARD / TÊTE DE LIT SIMPLE / CABECERA ESTILO PANEL DE 3/3

Page 1 of 3 / Page 1 sur 3 / Página 1 de 3                 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

 x4 JCBC Bolt M6 x 1.0 x 35MM
 x4 Boulon JCBC M6 x 1.0 x 35MM
 x4 JCBC Perno M6 x 1.0 x 35MM

 x11 Spring Washer M6
 x11 Rondelle à ressort M6
 x11 Arandela auto-bloqueante M6

 x11 Flat Washer M6
 x11 Rondelle Plate M6
 x11 Arandela Plana M6

x1 Allen Key 4 x 65MM
x1 Clé hexagonale 4 x 65MM
x1 Llave Allen 4 x 65MM

x1 Headboard Legs (Left)
x1 Pattes De Tête De Lit (Gauche)
x1 Patas Cabecera (Izquierda)

x1 Headboard Legs (Right)
x1 Pattes De Tête De Lit (Droite)
x1 Patas De Cabecera (Derecha)

* * *

*

*

*
E

A

C D

x4 Locking Pin
x4 Broche de verrouillage
x4 Pin de seguridad

F

L

R

x1 Headboard Bookcase
x1 Bibliothèque de tête de lit
x1 Librero de cabecera

H

I

x2 Back Support Rail
x2 Rail de support arrière
x2 Carril de soporte trasero

J

x1 Front Frame Support
x1 Support de cadre avant
x1 Soporte de marco frontal

K

*

* *

 x7 JCBC Bolt M6 x 1.0 x 40MM
 x7 Boulon JCBC M6 x 1.0 x 40MM
 x7 JCBC Perno M6 x 1.0 x 40MM

*
B

G

               For assembly instruction video, please go to: www.myfurnitureinstructions.com
Residential Use Only



Page 2 of 3 / Page 2 sur 3 / Página 2 de 3                 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

STEP 2

ÉTAPE  2

PASO 2

STEP 1
Fixed the Bottom Panel Support and front frame support to the left and right headboard leg as
shown.

ÉTAPE  1
Fixér Le Support Du Panneau inférieur et le support du cadre avant aux pieds gauche et droit
de la tête de lit, comme indiquè.
PASO 1
Fijo El Soporte Del Panel inferior y el soporte del bastidor delantero a la pata izquierda y
derecha de la cabecera como se muestra.

Fixed the Leg to Headboard Bookcase as shown.

Fixé la jambe à la bibliothequ de tête de lit comme montré.

Arregló la estantería de la pierna al cabecero como se muestra.

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-630
DESCRIPTION / DESCRIPCIÓN : 3/3 BOOKCASE  HEADBOARD / TÊTE DE LIT SIMPLE / CABECERA ESTILO PANEL DE 3/3

STEP 1.1 STEP 1.2

STEP 1.3

L

R

Side

STEP 2.1

Bottom of theBookcase Headboard

STEP 2.2

R

R
A H

DC

H
F

K

K
F

E
B

B

E
C D J

E

C
DJ

               For assembly instruction video, please go to: www.myfurnitureinstructions.com
Residential Use Only



x1 RS462-630-HWKIT
     Hardware Kit
     Liste des pièces de quincaillerie
     Lista del kit de materiales

*

x1 RS462-630-LEGL
     Headboard Legs (Left)
     Pattes De Tête De Lit (Gauche)
     Patas Cabecera (Izquierda)

x1 RS462-630-LEGR
     Headboard Legs (Right)
     Pattes De Tête De Lit (Droite)
     Patas De Cabecera (Derecha)

* *

Page 3 of 3 / Page 3 sur 3 / Página 3 de 3                 Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

   *Replaceable Part

L
R

REPLACEABLE PART / PARTIE REMPLAҪABLE / PARTE REEMPLAZABLE
ITEM NO. / ARTICLE NO. / ARTICULO NO : S462-630
DESCRIPTION / DESCRIPCIÓN : 3/3 BOOKCASE  HEADBOARD / TÊTE DE LIT SIMPLE / CABECERA ESTILO PANEL DE 3/3

x2 RS462-630-RAIL
     Safety Rail
     Rail de sécurité
     Barandilla de seguridad

*

x1 RS462-630-RAILH
     Horizontal Rail
     Rail Horizontal
     Carril Horizontal

*

               For assembly instruction video, please go to: www.myfurnitureinstructions.com
Residential Use Only


	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


